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Mathematics
Progression in calculation



The Basics ?

All children will develop efficient methods of "

calculation with all four operations choosing an
appropriate method (mental, mental with jottings, O

Recognise, read
and write numbers

problems.

@
written, calculator) to solve a range of different -l-hraee O 3

Children develop at different rates. It is important

that they develop a mathematical understanding, a

feel for number, NOT just learn a mechanical 1 Ten 3 ones
method that is prone to error. Know what -
numbers mean. o
m ]

Understand place
value

13 thirteen

Did you know that if you bend

a humber line around it could
make the face of a clock or
the dial on a pair of scales?

Count on and
back in steps
of the same
size
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Partition a
oo number and
oo recombine it
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Addition

Know your number
bonds.
Pairs of numbers that
make 10 or 20

EADS first!

Es‘rima‘re.
¥ 2 Don't move

on until you
understand.

Go back if
you need to.

Number Bonds
+ =10
=10
=10
=10
=10
=10
=10
=10
=10

+ + + + + + + +

Know that addition is counting on
and that it can be done in any order

——

1%
D+@=0@® @+71=@

b B e B B BER

RS 5
: . LN TN N N N
0 | 2 3 4 g
] R
5 counton 2

Add single digit numbers
* below 10
* then crossing over (bridging) 10
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| 8+7=5 | —
8 10 15
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QGGEST numb@




Add two two-digit numbers
a) using a numberline

Expanded Method
(A stepping stone
to the column ceeenn,
method) ‘oo :

b) by partitioning & recombining

48 T U
+ 36 40 + 8
30 + 6

» B
oo

oo 10
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Children use their
knowledge of
addition facts to

40+30+8+6

40 +30=70 inverse
calculations
8+6=14 25 +2 =27
27-5 =2

70 +14 =84




Subtraction

Know subtraction
facts for numbers

up to 10 and 20

Number Bonds

HEADS first!
Estimate.
Don't move
on until you
understand.

Go back if
you need to.

‘f

0 14
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The difference is? 0 n o,

10 -
10 -
10 -
10

10 -
10 -
10 -
10 -
10 -

Find the difference
between numbers

The difference
between |1
and |4 is 3.
[4—11=3
I+ =14

Subtract single digit numbers
* below 10
* then crossing through (bridging)
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| 15-7=8 |
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égges‘r number FIRST




Subtracting two-digit numbers
a) taking away on a numberline

b) by partitioning the number to
be taken away

Expanded Method
(A stepping stone to the column

method)

to subtract 7 units
we need to exchange
a ten for ten units

OO
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- 20 + 7
- 2 7 10 + 6

Children use their
knowledge of
facts to inverse

There are two
other inverse

sums for these calculations.
numbers. 39- 3 =36
36 +3 = 39




HEADS first!

2+2+2+2=8

Estimate. Know that
Don't move : = multiplication is
on until you a 4x2=8 r'eppea’red
understand. 2 mul’ciplied by 4 addition
Go back if Do you know your
you heed to. ‘r?lmes—‘rabl?als 4 lots of 2 @)

to 10 x 10? 9
Learn them they're
really useful! @3@ \@3@ @3@ \*\?@\@@

2242 +2

Set out multiplication as an
array and show jumps on a
number line

32 0000 +x2-8
0000
00 2x4-8 21x4=8
00 2 hops of 4
00 -:' —— ':"
00 0 e e 8
4%7-8 2 2 2 1

4 hops of 2




Use base 10 apparatus to

ppara Multiply TU x TU
support multiplication of

using the grid method

o ) - T 10 10 3
| oo 4
4 | |0
| |0
I | 1 O O 10 10 3
Use base 10 apparatus to 4 40 40 12
support multiplication of U x
TU
alongside the grid method
O 10 3 80 +12=92
-4-X'I5 oo . N \
| OO0
L I |
4 — 40 —0 12 ;
| | OO Practise with practical
questions. There are 4 of
10 3 us with 2 eyes each. How
many eyes in total?
4 40 12

40 +12 =52




Division

Do you know your
division facts?
Learn them, they're
really usefull

Share things out equally,
then begin to understand

HEADS first!

Estimate. (
Don't move remainders
on until you
understand. |5+5=3
Go back if |5 shared between 5
you need to. n?nn\ﬁﬂﬂl}q{ 0000

i
MHH

Group objects to divide them and
show this on a number line

18 divided into groups of 3
18 -3=6




Understand division
as repeated
subtraction

Practical purposes for maths
really brings it to life.

For example, sharing food
between the number of plates.
How many plates? How many
are there on each plate?




